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Annotation 

In the process of solving trigonometric equations, when we make some changes of forms or 

when the left side is replaced by the right side of the formulas given in the article, the solution 

may disappear. This is why it is important to check the roots that we find when using these 

formulas. 

Key words: equation, change of form, field of determination, root, solution, system of 
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Some one trigonometric equations solve in the process roots lost to stay cases happened will give 

. This left and right parts each different identification to the field have has been formulas apply 

as a result happen will be For example the following formulas : 
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Trigonometric the left side of Eq shown of formulas right part with when replaced of the solution 

lost to stay cases happened to give can _ That's why for this formulas when we use his right part 

unspecified , left part determined of the unknown values checking to see need will be For 

example , 
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formulas when we use 2 ; .n n Z      
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Example 1. This the equation solve : 
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   in appearance numbers given of Eq identification to the field corresponding to 

, but (2) of Eq identification to the field belongs to it's not . That's why for 
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Example 3. This the equation solve : cos2 1x ctgx   . 
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